
Lesson 5,7, continued
1 3.-: 4 gb.AB:y: i* + i;AD:l: -jx - |;' ca r:1r-+ ".vE:y:1-*1,

a; y :], - !;thevhave the same slope z.I
4. Solve the second equation for y to obtain

I! : -5x * 3. The streets are parallel when
l.a : -i because the slopes are equal. The streets

are perpendicular when c : 5 because the slopes
are negative reciprocals. 5. Answers will vary.
6. a. y : -4.6x + 33.74 b. Agriculture' received $4.6 billion less from the government

each year. c. about 7.331'ln a little more than
7 years, the government will not be giving the
agriculture industry any money. 7. Adults:
y : 7x * 3; children: y : 7x + 2.50; they have
the same slope and differenty-intercepts.
Ghallenge Practice

1.

2.y: -1.25x + 23.56 3.y:0.72x + 4.57
4.-y: 19.80 5.y:16.74 6.x = 2.84
7.x:15.97 8.y:2518t + 153,408;

I 88,664 thousand people
9. y : 71,698t + 2,394,742; 3,398,516 thousand

people
1o. y : 28x * 1,951,403; 3,401,276 thousand
people

Review and Project
Review Games and Activities
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Project: Predicting Femur Length
1-6. Answers will vary.
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Gumutative Review
)1.7 2. 18 3. -: 4. -24 5.3 6.6I

7.'.12pieces a.7 s. -8.4 ,o.+ 11. -60
12. 12 13.49 14. -3x - 12 1s. -2b - 45
16. -6a - 2 17. -9 18. -5 19.3 20. l0
21.0.5 22.14 23. 6 books 24.4.4 25.56

26. g 27. 12 28. g375 29. y : :#

34.m : -2,b : 7 35. m - -6,b : l0
37. yes, ] sa. tto

41.

43.16

36.m:
40-

1,u: o aS. yes, J

tl4.l2 45.y:8.x-3
47-Y:-2x+1 4a.y

I46.y:)x+7
_a_J

49. 50.

t: jx + 2.5
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y:2x + 5.5


